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INSTRUCTIONS

1. 35 TBRYF $TOPTT Towy QNNYRY wIRRORT. dgent “” Nedd B 3 wosnd 50 TJINIRY
LYRRORT. PN “WY WRRT, FPT, PR Y7 PR [Py P ‘@7 w@§§ 3 2 @3NS 25
BINIR), wIteoRT. wERTIRN TIBEF 2.3, 300 Loznent 125 TINYI) wdnfteoRd. we, TInen
VBOR.

prd

This Question Paper Booklet contains four Sections. Section “A” Mathematics contains
50 questions of 3 marks each. Section “B” General Knowledge, Section “C” Language and
Section “D” Intelligence contain 25 questions of 2 marks per question. In all, the paper consists

of 125 questions for a total of 300 marks. Answer all questions.

2. QYRR “Y” AOFR, PR FoLoPAT R =08, TRRT RCDE, eVZ0RLIeBD. (eﬁz;gsé;érn’%fo 3 39NT
13 pRR$E. m@d@dd@ 8:30:3.2S [REIE 1 AONGE, FW, WOCIRTo, 3o, ﬁozzﬁ, ROTY,
ROWTRS, 00, VT, WD, SR, TOWOW W02 wom@.)

Section “C” is language specific and is to be attempted in the chosen language. (Candidates were
required to choose any of the following 13 languages : English, Tamil, Malayalam, Telugu,

Kannada, Marathi, Gujarati, Hindi, Urdu, Odiya, Assamese, Punjabi and Bengali.)

3. TOGoRN 2 MoEENTO OB 30 AR (150 LOTNY) LBHODTPNS.

The test is of 2 hours and 30 minutes (150 minutes) duration.

4. DOFRTRRT cIRRTe PRI, B0, BRREROFRFON BZREF $OBTFR) AR BHB BEFR,
Qe Bod), BRRERORTIT ADFH, 1TOR T8 VNGRS, ATIFT. 2,083 Be¢f BR0T0T [TOFO3> BFOD
SBDYF cIRFTe WIS QY WWT VONGE SFFOP, (PR NPT BINIS) BRTDTRR)
9083 0TI TONEITLIER.

The Question Paper Booklet for those who opted for any of the specified languages would be in
the language opted and indicated on the Admit Card and in English. In case of any ambiguity in
translation/construction of a question in the exam, its English version (except for the Language

section questions) shall be treated as final.
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10.

11.

TIRE SOV 32 PuneRy FeodD. [IPE ST oINS DY S, B
. 9riRORT SRORER) BobRe) DUIBRAERS,

The Question Paper Booklet is of 32 pages. Please check and ensure that the Question Paper

Booklet is complete and contains all the pages.

BT 2.920.850°. YVIT WFCIE) BN, Q) TINER SVI0R.
) o [3e] £l -

Answer all questions in the OMR Answer Sheet only.

20,577, GUZ0BSE FIBFOD TOVTS wINT. TIVE oI, ISCHed RNt TewLA,

2.220.50°. UZTBEFODTY TRTIHCWO TY D[ONEDY, WINCRTIOWOT 2D [TF), WL T

FTR0T BN, PIF InB.

The OMR Answer Sheet is inside this Question Paper Booklet. When you are directed to open
the Question Paper Booklet, take out the OMR Answer Sheet and fill the particulars carefully
with blue/black ball point pen only.

B& Tt QY GVBTIN FeBO 2070 FBI) WNE, 3F), 2269, WRA. 20830 Fedf Jexy) wile BIR 2.003808
33,53 ZNON 3 2069, BRRTT, VY YVZTHR) BF) 20T TONETIRNOZE.
23 9= ) e R =

Darken only one circle as your answer for each question. If you darken more than one circle for

the same question, your answer will be treated as wrong.

3, QVBTE 930550FF 208 TROY,

There is no negative marking for a wrong answer.

t.00.850°. Ug8 RTEIoDY, wINE mdaéamfsi BRTUIER  @TPwo  DOWIIER  2TPavo @ddaq
LURBREVIWR. 2om Bed I TR BRAWS DY L.00.8T°. QBT BGIODTY, BRYBRTI
TREJDY,

Do not make unnecessary marks on the OMR Answer Sheet or fold or attempt to deface it. If you

do so, your OMR Answer Sheet will not be evaluated.

B3 PUBQ DTONTR), WL BB GVTRTRY WL FeB© Qe [3F), woer Twctoows B NI
BRE, WHR. BALF WIRCR.

Use Blue/Black Ball Point Pen only for writing particulars on this page and for writing answers.

Do not use pencil.
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12.

13.

14.

15.

16.

17.

VIR FIONFBIY 51 NTEBTN BITBT $VBIFRQ, AWENTOT wNTBY, WRE, BRweIe> =03
£0.20.&50°. V3T BEFONS) WRWLIRTD.

Rough work is to be done on the space provided for this purpose in the Question Paper Booklet
only and not on the OMR Answer Sheet.

TG TPFRAYIT F08T, FRTR[/TCTU0T  BRTIRNOD dwai 25.000.630° mgdwggm@(
Boedp5Ts0oR TAOBOR.

On completion of the test, hand over the OMR Answer Sheet to the Invigilator before leaving the
Room/Hall.

2 FIBYE sTHTFIR, DewY DR wAdH IiedERoRd BeerwBD.

You are allowed to take away this Question Paper Booklet with you.

(€

&l

B3 SVORITT 3T A SNT. £.220.85T°. YUZTHGFODY, BOQATOB R 5% BIWEF $TOBFD
QTORTC BN @Q@d&q DITTRRBRY, oD HeY [TYI Fow0TY, a;ggg 3R T
%.20.50°. YVZT TE HTBT WHRLHBWRWN DRODBI) FFeasse BoedpsTFON PR

oL
LESLJLS

The CODE for this Booklet is A. Make sure that the CODE printed on the OMR Answer Sheet is
the same as that on this Question Paper Booklet. In case of discrepancy, report the matter
immediately to the Invigilator for replacement of both the Question Paper Booklet and the OMR

Answer Sheet.

@%ﬁ@é 3BT 20.0.85T°. wgdwgéoﬁq 8@953@@@%&5 :’gﬁ BRT3OTBX ?Dd% Bree* J0wT® e_-asac(
23e3 D030 0TOTeR.

Do not write your Roll No. anywhere else except in the specified space in the Question Paper

Booklet/OMR Answer Sheet.

8.920.550°. VBTREICDY 0INFTe STTE BB WP FoOW WIRLIER.

Do not use white fluid for carrying out any correction on the OMR Answer Sheet.

KN/LABIHE/6/21 3-A



NN « / SECTION A

ned8 / MATHEMATICS
1. Fpeor Fodnsh IR Fo00F BR SR@eoNEs 2
(1) 30D (2) NI
(3)  moedRozyTd (4)  3308p
Whole numbers are closed under which operation ?
(1) Subtraction (2) Division
(3) Multiplication (4) All of these

2. 1309007 F03T IR

1) 20000 (2) 1000001 (3) 100001 (4) 10001
The successor of 1 million is
(1) 2 million (2) 1000001 (3) 100001 (4) 10001

3. Roa, Bed $edDRB 0, U, S, V, R, X, W, T, P, Q 33 Y 200z0nsh I5ns Bessds. «vg
OP 2008 B2R030R% @Q{mé

U V R X W T Q Y
OI T IS T T i T I II) T I2 T T

1 7 4 6

) = 2) L 3 = 4) 2

(1) 5 (2) 5 (3) = 4) =

The points O, U, S, V, R, X, W, T, P, Q and Y on the number line are equidistant. The
fraction represented by length OP is

U vV R X W T Q Y
OI T IS T T :Il T T :[I) T é T T
1 7 4 6
1) = 2) — 3) = 4) —
(1) 5 (2) 5 3) = (4) =
4 oI o0 sbY Y S BTS2 o
(1) 0=yl (2) 53037 (3) 5=036 4) 6037
The two consecutive integers, between which the fraction g lies, are
(1) Oand1 (2) 5and?7 (3) 5and6 (4) 6and7
5. onndd, cdnmcd Bnmes z;)aiméodfmd ?
4 5 5 5
1) = 2) — 3) = 4) —
(1) 5 (2) 3 (3) 5 (4) 5
Which of the following is the smallest fraction ?
4 5 5 5
1) = 2) = 3) = 4) —
(1) = (2) 3 (3) 5 (4) 5
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10.

QTR BOBNE &0.70. 8. [T ©.70. 8. FowoN 6 =03 864 NH. 10w Ko, 96 SNTT BFR0wd
70830303, FO@IREOD.

(1) 84 (2) 45 (3) 54 (4) 24
The HCF and LCM of two numbers are 6 and 864 respectively. If one number is 96,

find the other number.

(1) 84 (2) 45 (3) 54 4) 24

TR BoBNY 30.7.. 12 3080 WFNG FTR 12 SNTS. 3RRIY 03RO & BodNesNTwBI ?
(1) 84,96 (2) 66,78 (3) 70,82 (4) 62,78
The HCF of two numbers is 12 and their difference is 12. Which of the following can

be the numbers ?

(1) 84,96 (2) 66,78 (3) 170,82 (4) 62,78

9, 12 3583 15 85 BR000TR GRNFWRITT FUF, 08305080 1328
(1) 60 (2) 90 (3) 120 (4) 180
Find the smallest number that is divisible by each one of 9, 12 and 15.

(1) 60 (2) 90 (3) 120 (4) 180
20T ¥R (OTT AWATIRRODT, B TBees R T 15 ToZ &R0 BREGINOIT. womd BRI
% 144 B3Scinniozgd. 8 @ua” @y ey S0eds8 B3TE worf R ?

(1) 20 (2 25 3) 24 (4) 36
A certain brand of soap-powder is sold at T 15 per packet. It costs ¥ 144 a dozen. What

is the profit in percent on 8 dozen packets ?

(1) 20 (2) 25 (3) 24 (4) 36

BN 1, 2 3023 3 Jem wu9RdE 37, 56, 93 NYRD LPNIORIT NOF F0s5,0807) SIS

(1 9 (2) 18 3) 15 4) 12

Find the greatest number that will divide 37, 56, 93 leaving remainder 1, 2 and 3
respectively.

(1 9 (2) 18 3) 15 4) 12
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11.

12.

13.

14.

2,00 2069080 FURRTY, 10 FENed 4 OINYY, BRBUYDTT, 5 HINTY, wtde FURDTY, BRBLD R,
RN Wegordzd 2
(1) 10 (2) 8 (3) 40 4) 12

If 10 men can do a piece of work in 4 days, how many men will be required to get the

same work done in 5 days ?

(1) 10 (2) 8 (3) 40 4) 12

21 =Bond 15 TAOND IFB/R, BTT &3S 35 BAOMD ISVB/R, BTHITTIY, DR, SR
3ZS 2

(1) 38 (2) 49 3) 37 (4) 41

21 goats eat as much as 15 cows. How many goats eat as much as 35 cows ?

(1) 38 (2) 49 3 37 4) 41

%) BOFRT 9 53ONPT X 36,000 ZoTOROT. oD Fe¢ HTTY &8 27 590Ny FuT SHRTT
1 DT &8 2R FoTDRRITIS ?

(1) ¥1,08,000 (2) ¥ 1,80,000

(3) ¥1,00,800 (4) ¥1,00,080

A mechanic earns ¥ 36,000 on 9 cars. How much will he earn in 1 day, if in a day he
receives 27 cars ?

(1) ¥1,08,000 (2) ¥ 1,80,000

(3) %1,00,800 (4) %1,00,080

X:y=3:503, 3x + 4y : 8X + 5y VW0 29307598 0BG BOA0.
(1) 39:49 (2) 29:50
(3) 29:49 (4) 39:50

If x:y=3:5, find the ratio 3x + 4y : 8x + 5y.
(1) 39:49 (2) 29:50
3) 29:49 (4) 39:50
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15.

16.

17.

18.

3, 18, m, 42 1ieb eRMIZYFS m 3 IPYTIH FoR R0

(1) 6 (2) 54
3 7 (4) 252

Find the value of m, if 3, 18, m, 42 are in proportion.

(1) 6 (2) 54
3 7 (4) 252

20T T 2.2, SWTRY, 1200 AL TmERFIT, @woQ, 900 Sdod Reovery ST 3eTT
S030IRTT. BOI0IRE B SONRNOTIR LY HFNY SBONT WR0TE &), ?

(1) 300:120 (2 4:1 3) 3:1 (4) 120:130
In an NCC Camp, 1200 trainees are participating out of which 900 are selected for

Republic Day Camp. What is the ratio between the number of selected and

non-selected cadets ?
(1) 300: 120 2 4:1 3 3:1 (4) 120:130

2,00 e 2y BOBWOR 2,030 FFFRI) T 450 8 [noews BRATT, s 10% SFmerdgds. 10%
Y3 BREERYL), BRIV WIS @mwﬂdzﬁeéo ?

(1) R 500 (2) %600 (3) ¥ 550 (4) T 525
If a boy sells a book for ¥ 450, he makes a loss of 10%. To gain 10%, what should be

the selling price ?
(1) X 500 (2) 600 (3) 550 (4) 525

202, T3 200 AEBTT BT 20% w3, X 7,500 g Snoows BREITeS BBy 0IROW AEFT” WY
10% 3=BQ, X 8,100 & 30089, ST 2wts) TF e TtIns) FomHR00.

(1) I%=% 300 (2) =x=%350

(3) =% 300 (4) o=% 350

A man sells one speaker for ¥ 7,500 at a profit of 20% and another speaker for
< 8,100 at a loss of 10%. Find his total loss or profit.

(1) Loss=% 300 (2) Loss =% 350
(3) Profit =% 300 (4) Profit =% 350
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19.

20.

21.

22,

23.

8+4-2)x(17-12)x10-89 @Qﬁoﬁe&% =

(1) 3950 (2) 411 (3) 412 (4) 3949
Simplify (8 + 4 — 2) x (17 — 12) x 10 — 89 =

(1) 3950 (2) 411 (3) 412 (4) 3949

0:05+15x5+10x05 @Q#oﬁe&% =
(1) 425 (2) 425 (3) 0425 4) 042
Simplify 0:05 + 1-5 x5+ 10x 0-5 =

(1) 425 (2) 425 (3) 0-425 (4) 0-42

T+5-2x(7+89)-94+2+(33+3+9%x2-7)+ 11 &) Foger =

(1) 254 (2) -225 3) -235 (4) 245
Simplify 7+5-2x(7+89)-94+2+(B33+3+9x2-7)+11=

(1) 254 (2) -225 (3) —-235 (4) 245

2,00 FTNENY, 20 FOREONT TR0 207 160 322 08 ev9T § TIBONTHY 50 322, BTRECDYT &
TOTWONT FTHRO BRT FoBIROUWD.

(1) 138kg (2) 183 kg (3) 140 kg (4) 150 kg

The average weight of 20 boys in a class is 160 kg and that of the remaining 5 boys is
50 kg. Find the average weight of all the boys in the class.

(1) 138kg (2) 183 kg (3) 140 kg (4) 150 kg

200 MOo2TY, T DTHFNYD TR Bo9R0 @07 226. 2,000 Hedd 2[TY, ST B0k VAT LosNLh
gwowmon 340, 180, 260, 56, 275 =083 307 SNTT, DS HTRHF BET WOTHT, TOBOLRED.

(1) 160 (2) 162 (3) 163 (4) 164

The average marks obtained by 7 students in a group is 226. If the marks obtained by
six of them are 340, 180, 260, 56, 275 and 307 respectively, find the marks obtained
by the seventh student.

(1) 160 (2) 162 (3) 163 (4) 164
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24.

25.

26.

217.

28.

20T RogRO0ITE PRHITNFR FoF0 510 == 983 HFINGord 240 LR wdES.
PPRTITH0T &5T0LImendE 30 OTNY Eone=d Foomd NS Foad,08)

(1) 280 (2) 285 (3) 290 (4) 295
A library has an average of 510 visitors on Sundays and 240 on other days. The

average number of visitors in a month of 30 days starting with Sunday is

(1) 280 (2) 285 (3) 290 (4) 295

1735e BoTBY, 0y, W 30" 87 AReT [n® B3 ZToROCDIY, 3 008 TBupBges. 173 Boms
S0TT BB FTIFOCDT, FOBILEO.

(1) 36 (2) 37 (3) 38 4) 39
A batsman makes a score of 87 runs in the 17th match and thus increases his average

by 3. Find his average after the 17th match.
(1) 36 (2) 37 (3) 38 4) 39
1,3,5,7,9,11, 13 3 30000030

1 7 (2) 8 3) 75 4) 85
Averageof 1, 3,5,7,9,11, 13 is

1 7 (2) 8 3) 75 (4) 85

20w B y I x% 100 T DR z 3 y% 200 SNGT, wn x DB z IRIT FoLOTB/RY
FoBIROUWD.

1) z=x (2) 2z=x
3) z=2x (4) z=3x
If x% of y is 100 and y% of z is 200, then find the relation between x and z.
1) z=x (2) 2z=x
3) z=2x 4) z=3x

2,000 Bododh NTFe HVEO [eCFe woRT YT woBT i 15 8Nd. & Foad ol 40%
QTWNTIZT 2

(1) 140 (2) 150 (3) 180 (4) 200

One-fourth of one-third of two-fifth of a number is 15. What will be 40% of that
number ?

(1) 140 (2) 150 (3) 180 (4) 200
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29.

30.

31.

32.

40 B 15% 0320 2,08 Bos3,0 25% No8 2 BURNTT, SN & K08,
(1) 14 (2) 16 (3) 18 4) 20
If 15% of 40 is greater than 25% of a number by 2, then the number is

(1) 14 (2) 16 (3) 18 (4) 20

QReear 700 23.00¢. 3T Wnw 25 Doe. [WT woRd SONTHFTTT TV LTI 0.0, [,
BOBIHLRBOWD.

(1) 28 (2) 280

(3) 2800 (4) 2500
Find the length of a rectangular playground in cm whose area is 700 sq.m and
breadth is 25 m.

(1) 28 (2) 280

(3) 2800 (4) 2500

wie WO TURY @Hes SRFNT oY WREPA deme X 1,200 0 IRTEZROB. 20w Hed 53
TOT B BRIN 2goann T 432 TORSATT, 2VEOD e} @mwmgd 9

(1) 36 (2) 6

(3) 18 4) 10

Reena took a loan of ¥ 1,200 with simple interest for as many years as the rate of
interest. If she paid ¥ 432 as interest at the end of the loan period, what was the rate

of interest ?

(1) 36 (2) 6
(3) 18 4) 10
REROIRTE BWAFYT I:00 7:15 pm SNTITN HV0ERMII FRETT TIT T00.

(1) opoidees (2) oowdees
(3) oo dres (4) =09 3ees

Write the name of the angle formed by hands when the clock time is 7:15 pm.
(1) Acute angle (2) Right angle

(3) Obtuse angle (4) Straight angle

KN/LABIHE/6/21 10-A



33.

34.

35.

83 INT ERey BR,00NTF INTTY, BYE [HFT NMOF SBRRIBI), SRORTT. 83 FRETFBITOI
Bk WA BB 83 IPNT BIRER YVZ0%

TR TRBY, SR,0INT F INOBY, e, WY [oF FBoeT” S5 WweTd Eone ITIO NOF ToTRRS
(2 BBRR0Z WIS ) 232 ?

SoneH RIN0 | =oneFE o o) ﬂe,_'éjOng 3F0WT°
ﬁ@?%@ﬁdﬂd °C 5@,, 3 9 21 29 24 11
(1) 21-65°C (2) 24-66°C (3) 25-52°C (4) 26-23°C

The table below shows the maximum temperatures in New York City last year. Use

the information in this table and answer the following :

What was the average maximum temperature (upto 2 decimal places) of three months

May, July and September last year in New York City ?

Month Jan. Mar. May Jul. Sept. Nov.
Maximum = 3 9 21 29 24 11
temperature, in °C

(1) 21-65°C (2) 24-66°C (3) 25-52°C (4) 26-23°C

U39R, TTIRS — 10°C cdnnmy, 3083 Foed widd 3 RNONT), FRBOITEE. FoEedd TTBRT
DAZY ?

1) -7°C (2) -23°C (3) —-13°C 4) -12°C

In the morning, the temperature was — 10°C and it decreased 3 degrees by the

evening. What was the temperature in the evening ?

(1) -7°C (2) -23°C (3) -13°C (4) -12°C

SOTFTITT 2000 GVTRE 185 e eug 302y 220 doe wnw 98, @Bt SFTTY, 4 S0e IXRT
OUNOT 0R> TANYS, oW ©uT QUEE  IBPTOTTWRNT BBy VIROW  ©WT  wned
ABRT0ZTNG. B 13.00¢. 7§ X 1:25 I FR0Be0riavme Srdss e 3omdbRo0.

(1) 3,900 (2) 3,010 (3) 4,010 (4) 2,005

A rectangular garden is 185 m long and 220 m wide. It has two roads in its centre of
uniform width of 4 m, one parallel to its length and the other parallel to its breadth.
Find the cost of levelling the roads at ¥ 1-25 per sq.m.

(1) 3,900 (2) 3,010 (3) 4,010 (4) % 2,005
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36.

37.

38.

39.

2 OT3D BRAVEEIT om;’g)d'é; RO

(1) 1x10lm (2) 1x102m
(3) 1x102m (4) 1x103m
One decimeter is equal to

(1) 1x101m (2) 1x102m
(3) 1x102m (4) 1x103m

BRI @odNP, 2.0TD zsditodaa’% DITOREFATT, W FoPRROTR), WO wBT BPYY)
R0,

(1) =o (2) =xm)

(3) Tedoo WTFRY, (4)  2TBR ATOZNTIZS

In Roman numeration, if a symbol is repeated, its value is not multiplied as many
times as it occurs.

(1) True (2) False
(3) Cannot say (4) Both are equal

20T FTT CIRF)TE WOTOTY, 80T LTFHTE WYIQ0T DTF BT TRETR)

(1) 45° (2) 180°
(3) 90° (4) 60°

The angle subtended by the diameter of a semicircle on any point on the circle is

(1) 45° (2) 180°
(3) 90° (4) 60°

20T BRE, FITE 44 Fo.de. w@r{@?bq BrohT. wroed 4 Fo.ove. WONG e, a;’fm%@éﬁ@’&l

BZORURNT. TINTT TR, 2,083 FHTG0N0T RIBITWOLTIT R, ReY, PIF N TeITemoridgss ?

(1) 888 (2) 1729
(3) 164 (4) 33
A big cube has each portion of 44 cm. Tiny cubes of 4 cm portion each are cut from

that. Then how many tiny cubes will be formed that are surrounded by at least one

cube ?
(1) 888 (2 1729
(3) 164 4) 33
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40. 15 Fo.cwe. vzl 12 Fo.Qoe. Wriw B 8 Fode SIE .07 SONTETT 13,08 @Y, VEOROT
ROTREF GPEF BRTRNT. £33,05° 3T VO Qdeﬁiﬁoz&&@m&

(1) 180 Zo.awe.3 (2) 1200 Bo.we.3

(8) 440 Zo.q0e.3 (4) 1440 Bo.awe.3

A rectangular tank 15 cm long, 12 cm wide and 8 cm high was completely filled with

water. Find the volume of water in the tank.

(1) 180 c¢m3 (2) 1200 cm3
(3) 440 ¢cm3 (4) 1440 cm3

41. 3INT 03N BOIENY YIJTHENTI) DOFCD OB, WpeRITNT ?

(1) §<l<§<§ (2) §<l<E<§
8 12 4 16 8 12 16 4

(3) §<§<E<l (4) l<§<§<E
8 4 1 12 12 8 4 16

Which option shows fractions arranged in ascending order ?

(1) § l<§<§ (2) §<l<E<§
8 12 4 16 8 12 16 4

3) §<§<E<l 4) l<§<§<E
8 4 1 1 12 8 4 16

42. 945:341 - 1042:792 + 875435 + 31-025 20 WS R, ?
(1) 908:004 (2) 810-:008
(3) 795-659 (4) 809-:009
What is the value of 945-341 — 1042-792 + 875:435 + 31:025 ?
(1) 908:004 (2) 810-:008
(3) 795:659 (4) 809-:009
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43.

44.

45.

46.

BEoRTYDT Wy [ BB 64 save/nowd Benad, 160 e JodRITYS =Py 0BT
80 ds0e/noes Senm®), 160 $0¢ &,0350e370TS. BRTe 320 30¢ F,03RET ITIRO Fensy

(1) 3555 sawe/Rots (2) 36 ga0¢/nows

(3)  71-11 $a0¢/Rot3 (4) 71 $a0¢/Rot3

A man on tour travels first 160 km at 64 km/hr and the next 160 km at 80 km/hr. The
average speed for the first 320 km of the tour is

(1) 35-55 km/hr (2) 36 kmm/hr
(3) 71-11 km/hr (4) 71 km/hr

2,003 B0RT 0803 Fosd, N 20T 2272 Tonie 875 wonamen, S0t t.otie Jer Andgd. N 89803
©o8nY BRI

(1) 10 (2 11 3 12 (4) 13

On dividing 2272 as well as 875 by a 3-digit number N, we get the same remainder.
The sum of the digits of N is

(1) 10 (2) 11 (3) 12 (4) 13

T TRB, TS WHLSBROW, YVRFY) FOXERILI wAOINT % notd 23e3om3T 308 WPNT eVETRTIT

TRTED i Mol t3eErdgss. Todn TReMIFTE ATFINRLd BROCIRT R ABooD IeFnOTs ?

3 2 5
1) Zﬁo@? (2) 1o 3) Zﬁoéé* (4) Zﬁoéé

It takes Julia % hour to wash, comb her hair and put on her clothes and i hour to

have her breakfast. How much time does it take Julia to be ready for school ?

1) %hour (2) 1 hour 3) %hour ) ghour

SRERT Lo3nTODR B FENT NS, CARTTO IS 9
(1) LXII 2) XCI 3) LC 4) XLIV

Which of the following numbers in Roman Numerals is incorrect ?

(1) LXII (2) XCI 3) LC (4) XLIV
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47. 200 SO FIE AT WANSTOTS ?
1) 6 (2) 12 3) 8 4) 4
How many faces are there in a cuboid ?

(1 6 (2) 12 3 8 4) 4

48.  ©Q OBYLR BASZTN LIORIT word WL Woed oD k0TS
(1) A3 (2) Beas
(3) Teazo ot (4) Qo

A flat surface which extends indefinitely in all directions is called a

(1) Plane (2) Line
(3) Line segment (4) Point

49. T FPTT EResnY FEaFn) 10° sNEY 20Rk deesny :ﬁa@gs:& eﬁa@zﬁmd BRR.

(1) 55°,45° (2) 40°, 50°

(3) 50°,60° (4) 100°, 90°

The difference between two complementary angles is 10°. Calculate the values of both
the angles.

(1) 55°,45° (2) 40°, 50°

(3) 50°,60° (4) 100°, 90°

50. wTTEow, wSorTId Wy HHTOYOD ), Bt 48:057 B3 wBITow Wy WodTow ERd
Bomen 535 o8 083 24-52 28 SNTY, S5TY00 SRBE, FoBIERROND.

(1) 17-187 323 (2) 18-187 323

(3) 17-180 323 (4) 18-180 32

The total weight of brinjal, lady-finger and onion is 48:057 kg. If brinjal and
lady-finger weigh 5-35 kg and 24-52 kg respectively, find the weight of onion.

(1) 17-187kg (2) 18187kg

(3) 17-180 kg (4) 18180 kg
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51.

52.

53.

54.

55.

Qon W/ SECTION B
mm% g@ﬁ/ GENERAL KNOWLEDGE

TOBING ﬁeﬁdﬁa@t 28303000 OSR= mcjédﬁa@{ WIRRNOTT ?

(1) Redpaveesc® (2)  »aepeeT
(3)  ridnAre (4) 3SReeE3T”
Which device is used to measure the speed of vehicles ?

(1) Gravometer (2) Speedometer
(83) Gyroscope (4) Kilometer

033 RTFHOT 0T &im&woﬁ moeﬁﬁdﬁaﬂeﬁ%ﬁd&%%é@o@d ?

)

(1) B (2) =yRT

3) mTTT (4) sz

From which monument did India adopt its National Emblem ?
(1) Kapilavastu (2) Hastinapur
(3) Sarnath (4) Panipat

8 NS oy FOnYY 3G/ per @&q CITRNOR  WOTIIITS  TOBY  TIEIR03EIR0T
BRBRITINZS ?

(1) d@e&@oﬁn@gjo (2) WRY,
3) aﬁdém@%o (4) B33P

In which of the following styles of dance is the story/theme always taken from
Mahabharata and Ramayana ?

(1) Mohiniattam (2) Odissi
(3) Bharatanatyam (4) Kuchipudi

S Todyeodd FORT” (TT oI0N) SO SonNIRy FORT WRDFRTY, Weedt - a-uF
b-z00 c-egeR d -

(1) abed (2) beda (3) dacb (4) cdab
Arrange the months based on our National Calendar (Saka Era) in correct serial
order — a-Chaitra b-Vaishakha c-Jyaishtha d-Aashada :

(1) abced (2) bceda (3) dacb (4) cdab
QR)NSE) O3 oiwc%é)?mdmﬁd ?

(1) Bexz (2) D3

(3)  Wwecwore C-17 ﬁ@qewm:);cs (4) B3ezT®

Which one of the following is a combat aircraft ?

(1) Tejas (2) Dhruv

(3) Boeing C-17 Globemaster (4) Chetak
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56.

57.

58.

59.

60.

33 FPNTRNTE, 033033 3T [ £3R,eNTD P LTS FOWORREE ?

(1) Beox s (2) w00 BRey

(3) RoBnpe dn e (4) TeFPT* R

Which of the following cups/trophies is associated with football ?

(1) Davis Cup (2) Champions Trophy

(3) Santosh Trophy (4) Deodhar Trophy

B MOoT BB, BTN Terk RoTERTES 2

(1) wehos (2) oo

(3) =RJo0T (4) IO

How do ants recognize ants from their group ?

(1) By colour (2) By face

(3) By smell (4) By height

YRNTY, CRPTI), TP =7 FNTYQ AFRMOTT ?

1) o= (2) B0 (3) 3Bne® (4) B3N

Which of the following is domesticated in poultry farms ?

(1) Goat (2) Sheep (3) Hen (4) Horses
SOOI, BBWORIT BB STHOBYT TR ODIFNT T 88,0008

(1) SmecsTN (2)  Rosems od0

(3) =y (4)  B=F

The cover the tongue and react to chemicals in food.

(1) Taste Buds (2) Sphincters

(3) Teeth (4) Skin

BTTR), BoTRTN SeZOeTOTNT O BRWZT ?
(1) ©oC IErsmy Resodnn aoRoE

(2) =TT WIII T2 SN VORI

(3)  Rwgpesony WdmedrtoddR) SWed0T

(4)  2RNIY CTRRTR @),

What does freezing do when preserving foods ?
(1) Keeps the food product hard

(2) Keeps the flavours of the food fresh

(3) Stops growth of micro-organisms
(4) None of the above
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61. orjzocn BoE RoeTer NBENRY WernR MYONY TRT TOTREOZS DF0TT 53) BRI, BRoHTIZ:S
(1) SEoTds wewned
(2) TR =08 Tre=dgog Wewned
(3)  eugodd 3y 2TBNTIE T2
(4)  S09E80wNTE Wewned

Seeds of drumstick and maple are carried over long distances by wind because they
possess

(1) winged seeds.

(2) large and hairy seeds.

(3) long and ridged fruits.

(4) spiny seeds.

62. DTV TITADIT ANOTTIT RPN BOZ .
(1) 3008 (2) RoT 3) =& 4) R
is a traditional rainwater harvesting technique of Rajasthan.
(1) Taanka (2) Khadin (3) Bavadi (4) Kuan

63. 3 3INIINI, AR DEORE BRI 2

(1) ey, (2) T2
(3) =3I 4) %
Which of the following will dissolve in water ?
(1) Soil (2) Chalk Powder
(3) Sugar (4) Oil
64. VRN CINTYTO F0FT F2CSOTRNT ?
1) Sopoem (2) B
(3)  woeE (4) I
Which of the following is a communicable disease ?
(1) Diabetes (2) Chicken pox
(3) Alzheimer’s (4) Cancer

65. TIZ DTN ToR)

(1) modéc wInedesd (2) &;ocﬁéﬁ wonedesd
(3) JeTwon IBOLIeBd (4)  won BOTIesd

To climb the mountains, we have to

(1) Bend forward (2) Bend backwards
(3) Walk straight (4) Walk sideways
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66.

67.

68.

69.

70.

ORI THTRT BT IS o 1on® 188 FZBRTTEY AWFAT DRee DEFFROoDBR) TIOR.

(1) o) Beeed (2)  BOBoW QWZT®

(3) 03T Ro3T* (4) o Some*

Name an astronomical observatory built in the 18t century by Rajput King Sawai Jai
Singh of Rajasthan.

(1) Red Fort (2) Qutub Minar

(3) Jantar Mantar (4) Taj Mahal

30308 SSNTD, DIWNL f&@@ﬁeﬁd& LINROBT.

(1) =oz=TeH (2) Bemnees

(3) neeps (4) PrmH
includes internal rocks, minerals, etc.

(1) Atmosphere (2) Biosphere

(3) Hemisphere (4) Geosphere

OFPOTT TRFNY 8078 BOLFTR TONCOL TF; 0B TN TFCIPFO0T et FTCI0TIT

(1) Boyme, Qoesednshd (2) TLowLB VoINS
(3) e[S VORI (4) 833 3%

The remains of plants and animals that were buried millions of years ago are known
as

(1) potential reserves (2) fossil fuels

(3) biomass fuel (4) animate power
SAROD S WI,08 2S0RSRNGT.

(1) =5 wored (2) Sower

(3) 3Beod (4)  &=oe3e BT
Rasgulla is a popular sweet of .

(1) West Bengal (2) Punjab

(3) Kerala (4) Himachal Pradesh

33 FINIZYNYQ, 03RO LPTIT LT FBOTIOIETINT 2

(1) So&SDd (2) 28330
3) yer (4) Tow
Which of the following is a tribal community of India ?
(1) Pandits (2) Jaat

(3) Bhil (4) Punjabi
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71.

72.

73.

74.

75.

SBREBATO WBIZET BWOOT BRELITITES

1) &= (2) @%b

(3) 03 BINTO (4) =

Clouds are mostly made of

(1) snow (2) dust

(3) water droplets (4) smog

33 FNIPNSS, 0303 TOIF TN 00536 Beed «9Zon 293¢ #dz’&é m’aif%a@ BB BN 9
(1) a7 e & gra (2) BT

3) Reows® O (4) @0 &7 » 3R Be

For which of the following works has Vasdev Mohi been awarded the 29t Saraswati
Samman ?

(1) Lost Children Archive (2) Chequebook
(3) The Stranger Diaries (4) A Song for a New Day

@%ﬁoﬂ@ TRRF, IPOD BFFOT BRTO LT 03RTJ ?

(1) Se=o® wor (2) 2.8 37 B

(3) Y0 WO ©f Toke* (4) DS BoLTD oY

Who was the first Indian to be the President of U.N. General Assembly ?
(1) Natwar Singh (2) V.K. Krishna Menon

(83) Smt. Vijaya Lakshmi Pandit (4) Smt. Indira Gandhi

ST BeRd 3 TNS 0nI GPAGE,WFD> RoRAL Y, ?

(1) 3¢ (2) g%

(3) 2oedned (4)  worjisd

In which of the following parts of the human body are sweat glands absent ?
(1) Scalp (2) Armpits

(3) Lips (4) Palms

0RTRDR RO T DT FeDFeS ?

(1) Ppeer (2) 3dmees
(3) ¥mecds® (4) 3Bw
What do we call the young one of a Kangaroo ?

(1) Foal (2) Colt
(3) Joey (4) Cub

KN/LABIHE/6/21 20-A



Qon 2 / SECTION C

W& / LANGUAGE
(e 3R oo WOeE wSedOTHOR B[R

ot seededs (FRON) S0 L.ORRET0T ZIner evgox0 (JZ 76 0om 80)

PRI, Wy B YT B (W) AEY) 207D BRMOT LRATRMIT. R[N [oRdd w3
DTTITT. 52380 WFOT PO, & T OBV, WBYNT HOW TEYTR. BELTBOROT & BT
BB TR, BReORT0Z FeLTI.

WRTRON BT & ATYR MOTODYT 7T BoTES TnE0IR) L0 ATIe & [T, DO TEPTI.
[T BAZOTD GO B FATT TR LRAT.

F03T &3 TORTJT #owga’%#m&mﬁ 5023%@%1@3. SeRREIITTY, 9307 30020 w)mﬁcé@od uuﬁa
NHLITIY, BOLD WO BRETZ0. FOTIT W AT, YD, B3 FOTII) WYTe TowBRORT Tert Do)
cdpeest, DL FomBIT) TR0 SEBRFIV FOINTY BYITL. Mot ITLO TRTHI AB & VR

RoTII) .

ERYEe BRTEROTET wIoDTOI WD, BT ITHGTT GRIE é)aidﬁ;i 38 BoT?. V[T
ROEODHY, B, Ty, WTERE [ e BRI, SLOFRET Bedcd FRoTH BT,
QONR WBY TRWINTOT GO0T 30T m@oﬁaz’p‘% YN BRBTD. R BBOWT FEXTY BOR 2=TR
TR, Lot RS ©3000T & FAeRch TN Ay Bevd B> AT “BoTL FB
ENEVORI A
76. TR O[T BRNEROTE WEdIT AT ?

(1) = >R (2)  FFy-I3,
(3) OO (4) 7B oz
77, ZRR MOTY DT SReOITRO ?
(1) 30 F0BTTd (2)  BeRRdegSoRd
(3) ABBOTRD (4) 0D
78. oL BOL BRBHT PR [WREIEFoRd MOTEOZ BeyBd 03RS ?
(1) SR IREWeBomd (2) @bt
(3) Bregiedomd (4) BIORIeFoTO
79.  oWOR BRCTTR LHRTY P, WIS FoTRd ?
(1) e (2) o (3) ey, 4) =R
80. oz IRYTE B3> ?
(1 =y (2) o (3) RoZnex (4) e
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E"J@éi&d sm—wag( QTR B ST TPIT TOF IR FOCRT e.-ra:’fgoi:dg‘ =020,

81.

82.

83.

84.

85.

86.

87.

88.

89.

KN/LABIHE/6/21

BRZFBow / 2e32 / 4RTWI0T / RS
(A) (B) ©) (D)
(1) DBAC (2) BDCA

2Te3esd / weansd) / ve / Tod
(A) (B) © (D)
(1) DBAC (2) CBDA

QTR / Boot3TemoNn / woeiess / =08y
(A) (B) (©) (D)

(1) BADC (2) CBAD

A8 03200003 We R, 3000 :

)

@a&;ﬁ mm@ﬁsmq 3003 03P CRTO).

(1 z@z:b (2) BRBD (8) o (4)
mé@ﬁ 280300038 Faagj )

(1) SeeEen (2) =202 (3) B (4)
DT 502‘3%@35& [0LLIVTO.

(1) Qo00n» (2) 22003

(3) 20 &onsd (4)  wo JRE

DREE a%%(smzﬁdra d@%ﬁo.

(1) R (2 3 (3) ww (4)
W, :);%%r{@sag QB BAT0Z W3O :

I 0 FoesTdO T . (ROcING $,037TRTITAD)

(1) 20T (2) W3R

(8) B (4) Q03

BT, 2030 éo,—-’édﬁ%fsaq DTOTLIED). (mg QJeRDQ0T 330236)
(1) Sezood (2) o303

(3) c§}ojar®od (4) =Reewdon

3)

(3)

(3)

22-A

BADC

ADBC

DCBA

4)

4)

4)

ACBD

DBCA

DCAB

w8

Fegen

3eSF



90.

91.

92.

93.

94.

95.

96.

97.

98.

99.

100.

38R RBRYR) BOITS. (308 MROTHTI L0w0)
(1) Feired (2) oo (3) ggDb (4) s

©,08 ARFT SOI0NI), BOD.

‘e 0003 ‘Y F3AI @gdmfs% Q0T BB030T3.
(1) zﬂﬁz%ﬁeﬁo (2) Z|eormnes
(3) m%ﬁ@o (4) Broe3=nsd

‘Towy @Qd 3T BFEREIR QRO IR ?

(1)  nows (2) ne2 (8) Hhe=3 (4) dagojo
‘%sao?; 35T aﬁzéddsoqwd@f%
1) Ssa%eﬁ@a (2) xss;azoozﬁ 3) &’esgamﬂ (4) 55@37?

937 B3T3 a9on TR
1) 238 2) 538D (3)  sggomn (4) 23339,

‘Bpedsy IIF PIRT BT AT
(1) @eerozmg (2)  FRoOTD
(3) Fromamd (4)  FEeeromd

‘DD I3 é)domg;ﬁr% B2 CIRRT
(1) =Ro3reR (2) D (3) evez (4) =D

‘9B BRT AN FB T3
(1) =8 (2) 33 (3) @ (4) 2o

e

0T W, wBcINTON FoLReORIT MPTR ARWFXT
(1) 8cxprde= (2) ZoTs (3) wdemorm (4) =»33

‘gﬁﬁmdd 2T00%0 TWRRTY DO

(1) wned (2) BRI (3) @30S (4) ™TIPD
35 LITOTRIR, DOTI FTTYT.
(1) S»3oms (2) 3wz™T (3) RAen=ones (4) =RMT
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101.

102.

103.

104.

won &/ SECTION D
w@@z’ﬁj / INTELLIGENCE

QeBRT FTEICIE) 03T J03T W3 ?
AC,FH KM, ...

(1) N 2) Y 3) P 4) M
What comes next in the given series ?

ACF,H KM, ...
(1) N (2 Y 3 P 4 M

OOBOF FeTmoN FPTFE SEOPLO STOWAT. 8 woldR), R IHEB 308y 8083 BT W SN
033 FB0FT, BoTRORT. 53 B4R 03N DT FBX0ETRS ?

(1) eves (2) Zpze (3) g (4) =R
Rahul started walking straight towards East. He walks a certain distance and then

turns towards his right and walks again. In which direction is he heading now ?

(1) North (2) East (3) South (4) West

QeBERT @oﬂoﬁrﬁ@od 3@4&6@(@03% DR,

(1)  omded : &% (2) Be3er : boder

(3) 3BT : T (4) 207 : DOTRL®

From the given options, choose the odd one out.

(1) Bangladesh : Taka (2) Brazil: Real

(8) Cyprus : Dollar (4) Iran:Rial

Tome, WOT N0 BRT=L.

47" DOFN0B THRTI).

0T 37 NOZ BRTID.

2,00 68 BRTO DTED JeLINLD ﬁ@ommad, BRTS BePFo30

(1) =o (2) =) (3) negy (4) oRNIY, IR @Y,

Tanya is older than Eric.
Cliff is older than Tanya.

Eric is older than CIiff.
If the first two statements are true, the third statement is
(1) True (2) False (3) Uncertain (4) None of these
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105.

106.

107.

108.

@@{qﬁré WHOD RPNTE, AT W3 ?

10, 100, 200, 310, ?

(1) 420 (2) 410 (3) 430 (4) 400

What will come at the place of the question mark ?

10, 100, 200, 310, ?

(1) 420 (2) 410 (3) 430 (4) 400

A o3 B o Soncdminges. C o3 B od gecioodniges. D oxd C o gotiodnnees. E odo D
0% Z20WOIRNTHY. TINTT A 3083 D SRO0T Boeoiesesd ?

(1) e (2)

(3) =onsd (4)  Se=Yed

A is B’s sister. C is B’s mother. D is C’s father. E is D’s mother. Then how is A related
toD?

(1) Grandfather (2) Grandmother
(3) Daughter (4) Grand-daughter

20T @@F?‘i Ro#ed ypRiond COMPUTER @@L RFUVQNPC 0t w3ohennogs. & Joded
e MEDICINE e Sert o3cdennogd ?

(1) MFEDJJOE (2) EOJDEJFM
(3) MFEJDJOE (4) EOJDJEFM

In a certain code language, COMPUTER is written as RFUVQNPC. How will
MEDICINE be written in that code language ?

(1) MFEDJJOE (2) EOJDEJFM

(3) MFEJDJOE (4) EOJDJEFM

2,08 ek a—sri@oﬁa@ &V23, éem?g@ w@wm 33 0030, BT, déwab DTINIZT ?
(1) 35293, (2) @000z,

(3)  wrieod (4) o3,

If South-East becomes North, North-East becomes West and so on, what will West
become ?

(1) North-East (2) North-West
(3) South-East (4) South-West
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109.

110.

111.

112.

113.

45 DRHFNYSIE IoNEODNY, @eTS D08 e 16500 SN, BRes® W0 NoS
6 o0 FINTRS. FINAOT WERET'S T0F° R, ?

(1) 233e (2) 323¢ (3) 243e (4) 303¢

In a class of 45 students, Amir’s rank from the top is 16th. Ashok is 6 ranks below
Amir. What is Ashok’s rank from the bottom ?

(1) 23rd (2) 32nd (3) 24th (4) 30th

3 NS wgond s ojfa@ddgt W3, ﬁ@%ﬁ%ﬁ@q ©IFTOTN Q¥R @IONY  ITed
@mrﬁm%ﬁd?

_ab_b _aba_ _abab.

(1) abbaa (2) Dbbaab (3) abaab (4) aaaba

Which one set of letters when sequentially placed at the gaps in the given letter series

shall complete it ?

_ab _b_aba__ abab.
(1) abbaa (2) Dbbaab (3) abaab (4) aaaba

B3 FOLSCDR Feed : 2, 1, (1/2), (1/4), ...

300073 03 €233 WIS ?

(1) 1/3 (2) 18 (3) 2/8 (4) 1/16
Look at this series : 2, 1, (1/2), (1/4), ...

What number should come next ?
(1) 1/3 (2) 1/8 (3) 2/8 (4) 1/16

QT3¢ ﬁowo;ﬁﬁﬁimo@dad RO03TT TASIE O 'é’o@jgododirbdoé%.

SCD, TEF, UGH, , WKL

(1) CMN (2) UJI 3) VIJ (4) 1JT
Choose the correct alternative that has the same relation.

SCD, TEF, UGH, , WKL

(1) CMN (2) UJI 3) VIJ 4) 1JT

2,000 Res 9 “WAY’ @3’%679 QO RoBeBneeT3, ‘MAY’ wﬁoq579 DO FoBEBRAYITT =i
YAW &) &oert o3earindzmomd

(1) 976 (2) 1769 (3) 679 (4) 579

If ‘WAY’ is coded as 679, ‘MAY’ is coded as 579, then ‘YAW’ will be coded as

(1) 976 (2) 769 (3) 679 (4) 579
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114. 2,08 Fed 4+’ ©@oTB “BFT” SNGT, — 2o “Momesed” SNGY, X ©@owd “BrRRRTY” SNGT,
&N QW0 8P, 10 X 5 + 3 — 2 NI 2

1 24 (2) 52 3) 9 (4) 10

If ‘+’ means “Minus”, - means “Multiply”, <’ means “Add”, then what is the value of
10x5+3-27

1 24 (2) 52 3) 9 (4) 10

115. ZOBERRD : BRAOOFI : 1 83 :
(1) 2o (2) 0Ted W
(3) =3B (4) =ozds
mend : sewing : : edit :
(1) darn (2) repair
(3) manuscript (4) makeshift

116. w3 3¢ 2000d.
TYReEs : BT : 1 WOOZ,D TYHEF

(1) e,—-".é@éss (2) o B) o=INI (4) ==0
Fill in the blank.

rein : horse : : control panel :

(1) pilot (2) bit (3) plane (4) rider

117. Roo23Q, FTONTIR By, 5030, BRE.
(1) Q0.0%°. Jeows® (2) FPexTwoz®
(3)  wouE (4) o
Choose the word which is least like the words in the group.

(1) MS Paint (2) Facebook
(3) WhatsApp (4) Twitter
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118.

119.

120.

LBAS T3TOT BT BNE, PonewoNTIT éz%dsg% =08 [Re.

Neo°

(1) wow (2) 288 (3) wmonEd (4) Soensd
Choose the word that is a necessary part of the underlined word.

Guitar

(1) Band (2) Teacher (3) Songs (4) Strings

J Mgl

AT BOIRF O, 03 [WRET BT HTRESe tpeROIR) FREFRRVA.

(1)

©

(2)

[]

(3)

O

O

O

4)

Complete the second pair by selecting the appropriate alternative.

(D

22, B3 TFEsE 6 30¢ SBOXTS, TE STON 4 8¢ SWOXT, BT HEE STOMOTS W03 5 30¢

©

(2)

[]

(3)

SWO0TT. B3N 33 O30T @%ﬁé@ﬁcﬁoﬁw%a@i ?

(D

A man walks 6 km south, turns left and walks 4 km, again turns left and walks 5 km.

Which direction is he facing now ?

(1)

) f0

South

KN/LABIHE/6/21

(2)

(2)

Vcte)

North

3)

3)

28-A

O

I

East

(4)

4)

(4)

A

RO
%@

West




121.

122.

TBIFF T WTOIT) 03I WFT WHRLIOWRZT ?

(=) 0 ()
OXOX0;
OXOX0;

(1) N 2 O

3 P 4 M

Which letter replaces the question mark ?

(=) 0 ()
OXOX0;
OXOXO,

(1) N 2 O

3 P 4) M

P00 PR &oert Tewm 45 J0TNY 00T 203TTA, Motd wORTT. &odT nod 5
QUORNG &oT3 wPORVUT. =000S nowd Wor 7:45 & BeIROB.” PP 0IRT  ABDTE,
TPeOOID s BLIODI) VeRT ?

(1) 6:55 am (2) 17:00 am

(3) 7:05 am (4) 7:40 am

The priest told the devotee, “The bell rings at regular intervals of 45 minutes. The

last bell rang 5 minutes ago. The next bell is due to be rung at 7:45 am.” At what time

did the priest give this information to the devotee ?

(1) 6:55 am (2) 7:00 am

(3) 17:05 am (4) 7:40 am
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1) 4 (2) 12 3) 16 4) 10

How many triangles are there in the figure given below ?

1 4 (2) 12 3) 16 (4) 10

2,000 Roged e ‘BOMBAY’ @?;JGL ‘CNNABX’ 2ot R03e83enN3, mﬁd@d ‘DELHT o:bsgL
Tert BoFeSRRMOBT ?

(1) EDMJG (2) GMDEJ
(3) DEGMJ (4) EDMGJ
In a code, ‘BOMBAY’ is coded as ‘CNNABX’, then what will be the code of ‘DELHI ?
(1) EDMJG (2) GMDEJ
(3) DEGMJ (4) EDMGJ
We3 I 20020.
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(1) Rozse2 (2) 3@%
(3) = =n& (4) Qoedxy
Fill in the blank.

segregate : unify : : repair :

(1) approach (2) push

(3) damage (4) outwit
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